



St. Louis County, Minnesota

Date of Report: 5/14/2025 5:41:52 PM

General Details

 Parcel ID:
 275-0010-01260

 Document:
 Abstract - 01464881

Document Date: 03/22/2023

Legal Description Details

Plat Name: BREVATOR

Section Township Range Lot Block

6 50 17 - -

Description: THAT PART OF E 1/2 OF OF E 1/2 OF SE 1/4 OF NE 1/4 LYING S OF THE HIGHWAY AND NE 1/4 OF NE 1/4 OF

NE 1/4 OF SE 1/4

Taxpayer Details

Taxpayer Name DOUGHERTY LESLIE L

and Address: 8096 HWY 2

SAGINAW MN 55779

Owner Details

Owner Name DOUGHERTY JESSE I
Owner Name DOUGHERTY JOSHUA D

Payable 2025 Tax Summary

2025 - Net Tax \$550.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$550.00

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$275.00	2025 - 2nd Half Tax	\$275.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$275.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$275.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$275.00	2025 - Total Due	\$275.00	

Parcel Details

Property Address: 0 HWY 2, SAGINAW

School District: 2142
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
204	0 - Non Homestead	\$12,500	\$42,300	\$54,800	\$0	\$0	-		
	Total:	\$12,500	\$42,300	\$54,800	\$0	\$0	548		





St. Louis County, Minnesota

Date of Report: 5/14/2025 5:41:52 PM

			Land Det	ails				
Deeded Acres:	5.00							
Waterfront:	-							
Water Front Feet:	0.00							
Water Code & Desc:	-							
Gas Code & Desc:	-							
Sewer Code & Desc:	-							
Lot Width:	0.00							
Lot Depth:	0.00							
The dimensions shown are nhttps://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/f	curvey quality. ActimPlatStatPopU	dditional lot in p.aspx. If the	formation can be t re are any questio	found at ns, please email PropertyTa	ax@stlouiscountymn.gov.		
		Improvem	ent 1 Deta	ils (30X40 PB)			
Improvement Type	Year Built	Main Floo	or Ft ² G	ross Area Ft ²	Basement Finish	Style Code & Desc.		
POLE BUILDING	2001	1,200	0	1,200	-	-		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	30	40	1,200	FLOATING	SLAB		
		Improvem	ent 2 Deta	ils (16X24 ST)			
Improvement Type	Year Built	Main Floo		ross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	1959	384		384	-	• •		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	16	24	384	FLOATING :	SLAB		
CNX	1	5	7	35	FLOATING :	FLOATING SLAB		
		Improveme	nt 3 Detail	Is (MISC STO	P)			
Improvement Type	Year Built	Main Flor		ross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	384		384	-	otyle code & Desc.		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	8	48	384	POST ON GR			
		•		Is (MISC STO	•			
Improvement Type	Year Built	Main Floo		ross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	208		208	-	-		
Segment	Story	Width	Length	Area	Foundati			
BAS	1	8	26	208	POST ON GR	OUND		
		Improveme	ent 5 Detail	Is (MISC STO	R)			
Improvement Type	Year Built	Main Floo	or Ft ² G	ross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	320		320	-			
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	8	40	320	POST ON GR	OUND		
		Improveme	nt 6 Detail	s (MISC STO	R)			
Improvement Type	Year Built	Main Floo	or Ft ² G	ross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	352		352	-	-		
Segment	Story	Width	Length	Area	Foundati	on		





St. Louis County, Minnesota

Date of Report: 5/14/2025 5:41:52 PM

		Improvem	ent 7 Det	ails (MISC STO	B)				
Improvement Type	Year Built	•		Gross Area Ft ²	•	Style Code & Dose			
Improvement Type		Main Floor Ft ²			Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	320		320	-	-			
Segment	Story	Width Length			Foundati				
BAS	1	8	40	320	POST ON GR	COUND			
Improvement 8 Details (MISC STOR)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	320)	320	-	-			
Segment	Story	Width	Length	Area	Foundati	on			
BAS	1	8	40	320	POST ON GR	OUND			
		Improveme	ent 9 Det	ails (MISC STO	R)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	352	2	352	-	-			
Segment	Story	Width	Length	Area	Foundati	on			
BAS	1	8	44	352	POST ON GR	OUND			
				taila (MICO CTO	ND)				
		•		tails (MISC STO	•				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	320	-	320		-			
Segment	Story	Width	Length		Foundati				
BAS	1	8	40	320	POST ON GR	OUND			
		Improveme	ent 11 De	tails (MISC STO	PR)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	336		336	-	-			
Segment	Story	Width Length		Area	Foundati	on			
BAS	1	8 42		336	POST ON GR	OUND			
		Improveme	ent 12 De	tails (MISC STO	PR)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	352		352	-	-			
Segment	Story	Width	Length		Foundati	on			
BAS	1	8	20119	352	POST ON GR				
Bito	'					COND			
_		-		tails (MISC STO	-				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	240		240	-	-			
Segment	Story	Width	Length		Foundati				
BAS	1	8	30	240	POST ON GR	OUND			
Improvement 14 Details (MISC STOR)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	272	2	272	-	<u>-</u>			
Segment	Story	Width	Length	Area	Foundati	on			
BAS	1	8	34	272	POST ON GR	OUND			
		Improveme	ent 15 De	tails (MISC STO	PR)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	224	4	224	-	- -			
					- -	-			





St. Louis County, Minnesota

Date of Report: 5/14/2025 5:41:52 PM

Segment Story		y Width	Length	Area	Foundation		
BAS	1	8	28	224	POST ON GROUND		
		Improvem	ent 16 Details	(MISC STOR)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gro	ss Area Ft ²	Basement Finish	Style	Code & Desc.
STORAGE BUILDIN	G 0	35	352 352		<u> </u>		
Segmer	nt Story	y Width	Length	Area	Found	dation	
BAS	1	8	44	352	POST ON GROUND		
	;	Sales Reported	to the St. Lo	uis County Au	ditor		
Sal	e Date		Purchase Pric	e	CF	RV Number	
10	\$6,000 (T	his is part of a mu	lti parcel sale.)	138507			
		A	ssessment H	story			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
2024 Payable 2025	204	\$12,500	\$41,200	\$53,700	\$0	\$0	-
	Total	\$12,500	\$41,200	\$53,700	\$0	\$0	537.00
	204	\$10,400	\$37,600	\$48,000	\$0	\$0	-
2023 Payable 2024	Total	\$10,400	\$37,600	\$48,000	\$0	\$0	480.00
	233	\$11,800	\$12,600	\$24,400	\$0	\$0	-
2022 Payable 2023	Total	\$11,800	\$12,600	\$24,400	\$0	\$0	366.00
	233	\$11,800	\$12,100	\$23,900	\$0	\$0	-
2021 Payable 2022	Total	\$11,800	\$12,100	\$23,900	\$0	\$0	359.00
•		1	Γax Detail His	tory			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessment	s Taxable Lan	Taxable Bu d MV MV		tal Taxable MV
2024	\$500.00	\$0.00	\$500.00	\$10,400	\$37,60	0	\$48,000
2023	\$452.00	\$0.00	\$452.00	\$11,800	\$12,60	0	\$24,400
2022	\$496.00	\$0.00	\$496.00	\$11,800	0 \$12,100		\$23,900

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.